Sr. Nos.	Work description	Unit	Qty	0:	Int. Amount Shyam Ent. Amount		Os Int. Amount Shyam Ent. Amount Harsh B. An		rsh B. Amount
				RO	RO	RO	RO	RO	RO
1	Flex Opposite Grubhub - Serice Chrage Rent for 3 Month	Sq. Ft	684	24	16416	45	30780	28	19152
2	Big store ceilling painting with oil paint	Sq. Ft	119	22	2618	45	5355	25	2975
3	Big store frount wall painting with asian tractor emulsion paint	Sq. Ft	380	28	10640	45	17100	32	12160
	Back side small store wall and ceiling painting with lambi, putty, primer and asian make tractor emulsion paint	L/s	1	7000	7000	2500	2500	7500	7500
5	Door repairing with new patch and paiting with oil paint	L/s	1	3000	3000	6500	6500	4000	4000
6	Cover exhaust hole with ply	Sq. Ft	1080	24	25920	45	48600	28	30240
	Total Amount				65594		110835		76027
	GST				11806.92		19950.3		13684.86
Gross Total				77400.92		130785.3		89711.86	

Mr. Ajay Jadhav

Mobile No - 97735 97150



Email-osinteriors11@gmail.com

	Email-osinteriors11@gmail.com							
<u>OS INTERIORS</u>								
<u>Gala No - 29, Mangalmurti Rahivasi Seva Sang. Aadharsh Nager. Kandivli(West). Mumbai - 400 067.</u>								
Specialist in-Maintenance and Project								
Client Name - Sunville banquets worli								
Client Address - Harish sir			Quota	tion No -	405			
	N7							
Contact No - Mail ID			Date -		08-11-2024			
	Mail ID - SUB:- Paiting work							
		T T •4	04	D (
Sr. Nos.	Particulars	Unit	Qty.	Rate	Amount			
1	Big store ceilling painting with oil paint	Sq. Ft	684	24	16416			
2	Big store frount wall painting with asian tractor emulsion paint	Sq. Ft	119	22	2618			
	Il store wall and ceiling painting with lambi, putty, primer and aisan make tractor	Sq. Ft	380	28	10640			
4	Door repairing with new patch and pairing with oil paint	L/s	1	7000	7000			
5	Cover exhaust hole with ply	L/s	1	3000	3000			
6	Back side 2nd small store wall and ceiling painting with oil paint	Sq. Ft	1080	24	25920			
-		~ 1						
1								
			Т	otal Amount	65594			
	Taxes 18%							
	Grand Total							
	Payment Terms- 50% Advance along with	h work ord	er	I				
	We hope you will find our offer in this line & look forwa	rd for your v	aluable orde		_			
				10	SINA			
30								
	Yours faithfully							
THANK YOU FOR YOUR OFFER!								

Capex Purchase

From:	Team OS Interiors <team@os-interiors.in></team@os-interiors.in>
Sent:	16 November 2024 10:38
То:	Capex Purchase
Cc:	Shashikant Vishwakarma
Subject:	Re: Painting work - CATERING COLLECTIVE -Sunville Banquets

CAUTION: This email originated from outside of the organization. Do not click links or open attachments unless you recognize the sender and know the content is safe.

Dear sir,

As discussed with you this is the best rate kindly give the valuable work order.

Thanks & Regards, **Team OS Interiors** +91 9773597150 <u>www.os-interiors.in</u> Ekta nagar, M.H.B. Colony, New link road, Near Mahavir Nagar Metro Station, Kandivali (W), Mum- 400067

On Sat, 16 Nov 2024 at 10:17 AM, Capex Purchase <<u>capex.purchase@travelfoodservices.com</u>> wrote:

Dear Sir,

As discussed, kindly share your no regret rate for the above work.

Thanks & Regards

Pramod Singh

9769548806

OS Interior

Sr. Nos.	Description	Unit	Qty	Rate	Amount
1	Big store ceilling painting with oil paint		684	28	19152
2	Big store frount wall painting with asian tractor emulsion paint		119	25	2975
3	Back side small store wall and ceiling painting with lambi, putty, primer and aisan make tractor emulsion paint		380	32	12160
4	4 Door repairing with new patch and paiting with oil paint		1	7500	7500
5	Cover exhaust hole with ply	L/s	1	4000	4000
6	6 Back side 2nd small store wall and ceiling painting with oil paint		1080	28	30240
Total amount				76027	

Capex Purchase

From:	Harsh Bane <harshsbane@gmail.com></harshsbane@gmail.com>
Sent:	10 November 2024 22:38
То:	maintenance@kapcocatering.com
Subject:	BOQ for Sunville stores painting
Attachments:	BOQ for Sunville stores painting - Copy.xlsx

PFA.

Regards, Harsh Bane

Shyam Enterprises

Sr. Nos.	Description	Unit	Qty	Rate	Amount
1	Big store ceilling painting with oil paint	Sq. Ft	684	45	30780
2	Big store frount wall painting with asian tractor emulsion paint		119	45	5355
3	Back side small store wall and ceiling painting with lambi, putty, primer and asian make tractor emulsion paint		380	45	17100
4	4 Door repairing with new patch and paiting with oil paint		1	2500	2500
5	Cover exhaust hole with ply	L/s	1	6500	6500
6	6 Back side 2nd small store wall and ceiling painting with oil paint		1080	45	48600
Total amount				110835	

50%advance extra work extra charge +18gst for shyam enterprise